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SH24F [HM3E SH4E SHEE SH6E
(N) #Et (A) =i (B) (B—A) #3t (A) = (B) (B—A) #at (A) E# (B) (B—A) #aEt (A) =i (B) (B—A) #Et (A) =4 (B) (B—A)
o 874 920 46 834 898 14 894 905 915
1% 1,003 1,007 4 1,048 1,086 38 1,059 1,071 1,084
2% 1,227 1,214 -13 1,221 1,218 5 17 1,182 1,19
18- 2@t 2,320 2,311 9 2,269 2,304 35 2,230 2,253 2,280
3® 1.217 1,204 -13 1,343 1,312 31 1,337 1,281 1,293
) 1,133 1172 39 1,269 1,272 3 1,400 1,304 1,336
5 1,218 1,228 10 1,168 1,209 a1 1,308 1,444 1,438
3~ 5 R 3,568 3,604 36 3,780 3,793 13 4,045 4119 4,067
0~ 5t 6. 762 6,835 ) 6,933 6,995 62 7,169 7,277 7.262
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EHEE (A) EHiE (B) (B—A) EHEE (A) EHE (B) (B—A) EHEE (A) EHfE (B) (B—A) FEE (A) EH/E (B) (B—A) FHEE (A) EfiiE (B) (B—A)
H1RE 174 188 14 184 175 9 197 246 198
. 2R 1,108 1,138 30 174 1,344 170 1,257 1,310 1,263
HaR 110 101 9 116 % -1 124 105 125
i 1,392 1,427 35 1,474 1,614 140 1,578 1,661 1,586
E1RE 33 17 ~16 3 15 -19 34 35 35
o E2 R 228 82 ~146 230 126 ~104 233 236 239
i(%%i&i* i %3 R 14 4 -10 14 4 -10 14 14 14
& 275 103 172 278 145 -133 281 285 288
as £1RE 1 116 5 108 97 i 106 108 109
N T 791 71 70 773 939 166 760 768 m
B3R 68 59 9 67 4 ~26 66 66 67
P 970 896 14 948 1,077 129 932 942 953
P 1,245 999 246 1,226 1,222 4 1,213 1,227 1,241
1R 246 246 0 246 26 0 246 246 246
penn  |B2EE 1,283 1,313 30 1310 1361 51 1,310 1,310 1,310
REBE  [gamm 105 105 0 105 105 0 105 105 105
s 0 P 1,634 1,664 30 1,661 1,712 51 1,661 1,661 1,661
1R 0 0 0 0 0 0 0 0 0
g |B2EE 0 0 0 0 0 0 0 0 0
’E B3R 0 0 0 0 0 0 0 0 0
P 0 0 0 0 0 0 0 0 0
1R 39 39 0 39 39 0 39 39 39
pasE  |B2EE 245 258 13 250 256 6 250 250 250
REES  |zopy 12 12 0 12 12 0 12 12 12
P 296 309 13 301 307 6 301 301 301
0R 1R 0 0 0 0 0 0 0 0 0
prmen  |B2EE 3 3 0 9 9 0 9 9 9
RE %3N 0 0 0 6 0 -6 6 6 6
P 3 3 0 15 9 i 15 15 15
P 299 312 13 316 316 0 316 316 316
RRAE o5 N £1R 155 155 0 155 155 0 155 155 155
prus  |B2EM 713 746 33 734 800 66 734 734 734
L P 43 43 0 43 43 0 43 43 43
st 911 944 33 932 998 66 932 932 932
1288 1R 0 0 0 0 0 0 0 0 0
o 5 6 0 30 48 18 30 30 30
L EaIE 0 0 0 24 0 24 2 24 24
5t 5 6 0 54 48 -6 54 54 54
P 917 950 33 086 1,046 60 986 986 986
1R 5 5 0 5 5 0 5 5 5
pass  |B2EE 28 28 0 28 2 ) 28 28 28
REES  |zopy 1 1 0 1 1 0 1 1 1
s P 34 34 0 34 32 ) 34 34 3
2838 (ExmH 1R 0 0 0 0 0 0 0 0 0
® B |H2RE 1 3 2 3 3 0 3 3 3
’E #IEN 0 0 0 2 0 =2 2 2 2
P 1 3 2 5 3 ) 5 5 5
5 35 37 2 39 35 - 39 39 39
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SM24%E K3 E K4 E S5 E K6 &
(N) #Et (A) = (B) (B—A) #Et (A) = (B) (B—A) #Et (A) =4 (B) (B—A) #Et (A) =4 (B) (B—A) #Et (A) =4 (B) (B—A)
0% 874 920 46 884 898 14 894 905 915
18% 1,093 1,007 4 1,048 1,086 38 1,059 1,071 1,084
2% 1,227 1,214 -13 1,221 1,218 -3 1,171 1,182 1,196
15 - 23t 2,320 2,311 -9 2,269 2,304 35 2,230 2,253 2,280
3% 1,217 1,204 -13 1,343 1,312 -31 1,337 1,281 1,293
4% 1,133 1,172 39 1,269 1,272 3 1,400 1,394 1,336
5% 1,218 1,228 10 1,168 1,209 # 1,308 1,444 1,438
3~ 5i%at 3,568 3, 604 36 3,780 3,793 13 4,045 4,119 4,067
0 /%~ 5 mat 6,762 6,835 73 6,933 6, 995 62 7,169 7,277 7,262
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ETEfE (A) EiEE (B) (B—A) ETEIE (A) EiEE (B) (B—A) ETEIE (A) EiEfE (B) (B—A) ETEIE (A) EiEfE (B) (B—A) EEE (A) =#EfE (B) (B—A)
EORRAH (N) 1,784 1,784 0 1,890 1,890 0 2,023 2,060 2,034
HEHE - REMEH (N) 848 848 0 900 881 -19 900 900 900
HREZ L OHHEE (N) 1,395 1,395 0 1,395 1269 -126 1,395 1,395 1,395
it (N) 2,243 2,243 0 2,295 2,150 ~145 2,295 2,295 2,295
FEAR 5
} BERE - REMR 8 8 0 9 9 0 9 9 9
?ﬁﬁﬁ& RREZ (T VGHHE 5 5 0 4 4 0 4 4 4
& &t 13 13 0 13 13 0 13 13 13
NUPHREIZ OV TIE, HREE - RADOEELED
@Bk & 255 FEICLY, ARBEEAHZETEY., BIERIZH
%, Ff-. BRFHHBEDOBEROZMILNEL | MK
SHOHFPELIVMRRTH D,
SuOBME R A i




